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PART - A
1.

1. Which among the following painting style is not
associated with the ‘Thikana Art’ of ‘Dhundhar

style’?
(1) Samod (2) Isarda
(3) Jhilaya (4) Riyan

(5) Question not attempted

frfoRad § | S R el ‘gars el
31 ‘f3Pon war ¥ e T8 87

(1) | (2 $¥Ran
@) fRrem @) R
(5) IgART e

2. Which folk deity of Ra]asthan is considered as 2 ORI @& W WG IIAT DI TREARI B
the contemporary of Gorakhnath? BT AT SITer 27
(1) Pabuji (2) Tejaji (1) T (2) qoIrshY
(3) Gogaji (4) Devnarayan ji (3) TRITT (4) JETRET St
(5) Question not attempted (5) :ﬂﬂﬁﬁﬁ o
3. Bijolia Peasant Movement was led by which 3. fIwiferar fam sridlem fw d@enm & gw
Association? TATIT AT AT?
(1) Rajasthan Kisan Sabha (1) o feam |
(2) Rajasthan Seva Sangh (2) o Har §g
(3) Sarva Hit Karni Sabha @) 7 R Heell w1
(4) Marwar Lok Parishad (4) ARaTS Ah IRTY
(5) Question not attempted (8) Srgaa we
4. Which one of the following facts related to 4 Ta9 J& & T 141 § I T 728§
Gavari dance is NOT true? T8 8°?
(1) People participating in the dance remain (1) J&a # 91T o arel, @7 3 Ui e & |
gL @) e # A A are, R # 1@ AR Ao
(2) The participants of the dance eat once a day. T ¥
(3) ih?sehwho part(iici;f)ate- ;ln thfis dance le;we ®) T T ﬁr’*ﬂ"T O T waT T a6 A
eir homes and families for one and a
e ‘ TR g YRIR B T 2 & |
(4) In Gavari play around 21 different stories are (8) Ty e § ST 21 SeTT—Sfer Fel
told through dance and songs. L S fat grr qarg St &
(5) Question not attempted (5) SriRd g
5. In which year the state of Kishangath was 5 ¥gad Yo ¥ fhere sy &1 e fea
merged into the United State of Rajasthan? CL gar?
(1) 1948 (2) 1949 (1) 1948 (2) 1949
(3) 1950 (4) 1956 (3) 1950 @) 1956
(5) Question not attempted = (5) SR U
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6. Which folk instrument is played while singing AR & ARyl Udaid & & gea,
Patelya, Bichhiyo and Lalar folk songs of the difsdr IR deR Ao fal @ T & 9
Tribal Hilly regions of Rajasthan? DITHT b aTel OTRT STT 27
(1) Algoza (2) Ektara (1) 3T (2) smarT
(3) Madal (4) Sarangi (3) dArEeT (@) |
(5) Question not attempted (5) srgaRa weA

7. Who has been called the Hero of Fifty Two XTSRRI 9T IRORT H 9199 @i BT 916 by
Battles in bardic traditions of Rajasthan? HET ST 27
(1) Maldeo (2) Rao Ganga - (1) Areea (2) ~mg w1
(3) Udai Singh (4) Chandrasen 3) 33T Rz @) F=aq
(5) Question not attempted (5) argaifRa we

8. Which of the following statement is false FfeRed § 9 AaTs & yovSd ATRIeT @
regarding the Prajamandal Movement of v 3§ #F¥T $99 e 27
Mewar?, , : (1) =1 &l G|t 9 ‘Jars BT qAqH I
(1) Manikya Lal Verma published a book titled

‘Mewar ka Vartman Shasan’ and bitterly TP GRAST FHIRC TR AT B *s
criticized the Government. ATATAT P | :

(2) After the Haripura Session of the Congress, (2 R & SR 93 & 915 Jars § 1938
Prajamandal was established in Mewar on T TAHISS &Y IO &) T |
1938. : 5 3

(3) Maharana declared Mewar Prajamandal an 5 L, I AT, 7 2
illegal  organization for  demanding HARS TOOSA BT AR HIA wiverr e
responsible governance. : F e | ‘

(4) The Maharana kept the activities of the (@) 7'ROT ¥ 9RT &) wWa=ar gy 9%
Prajamandal banned until Independence of Tomvee & TRIRARRT BT aRisRd v |
India.

(5) Question not attempted (®) SrgeiRa o=

9. In Rajasthan, head of which Nirguna Sect is ISR F e ol weem & ua g
called “Siddha™? HEA 87
(1) Niranjani Sect (2) Ramsnehi Sect (1) AR g7EEm (2) IHEE 99E™
(3) Vishnoi Sect (4) Jasnathi Sect ©3) feE TuEE @) SR ey
(5) Question not attempted (5) IR we

10.  Which among the following Rajasthani poetry is - FfoRea § 9 eFar IoRR B (1857 B
called the ‘Documentary Poetry of 1857°? TEIAol BT’ BEArdl 87
(1) Sadashiv-Raj Ratnakar (1) TR a—TSREATHR
(2) Suryamal Mishran-Veer Satsai (2) g Fsm-dR waws
(3) Karnidan-Suraj Prakash (3) PRONTA—HRS BTl
(4) Veerbhan-Raj Roopak @) IH_TETH
(5) Question not attempted (5) areRa e
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11. What was the name of the Chauhan King who 1. S @M I &1 @1 9 o1, e g 4
built the temple of Varaha at Pushkar? M8 HGfex &7 AT FHRam@r o
(1) Someshvara (2) Ajayraja (1) AR (2) IR
(3) Vigraharaj IV (4) Arnoraja () fauresm IV (4) 3iRRTST
(5) Question not attempted (5) ajﬂﬁa o
12. Which of the following pair (Author-Book) is 12 fy=fafed # & ad ¥ (d@d—=q)
NOT correctly matched? gHferd T8l &7
(1) Jogidas-Varsalpurgarh Vijay (1) Srfre—aRaagyTe fae™
(2) Madhodas Charan-Ramraso (2) AR TNUT—IFRTET
(3) Dhadhi Badar-Veeramayan (3) TS TTER—GRATIOT
(4) Mahesh Dasot-Ratan Jas Prakash (4) 7291 SIT—<Aa o9 U9
(5) Question not attempted (5) araRa wes
13. The last and most magnificent temple of Gurjar 13- ok yfER el F1 3if~a¥ 9 |IH 9 AfeR
Pratihar style is - g -
(1) The Kiradu’s Someshwar Temple (1) fovTg, &1 AMEER AR
(2) Vishnu Temple of Osian (2) iRt 1 fasy AR
(3) Neelkantheshwar Temple of Paranagar (3) NaHvdTaY HfeY, YRR
(4) The Harshnath Temple near Sikar (4) v & 99 SN HReR
(5) Question not attempted (5) SraiRa ueA |
14. The ‘Rangdi’ language is a sub-dialect of which 14 'IFTSY dlell fq W97 & IuU—dlell 27
language? (1) Hrad ) m
(1) Malvi (2) Hadoti 2
(3) Dhundhari (4) Ahirwati S o
(5) Question not attempted ‘ (8) IrgaRa e
15. Where the Mesolithic age human skeleton has 15. TG # FEAUNIOT M AT BTl Hal 4o
been found in Rajasthan? T 3T &7
(1) Viratnagar (2) Tilwara (1) fRreTR (2) forearst
(3) Ganeshwar (4) Bagor (3) TR (4) IR
(5) Question not attempted (5) rgaiRa ye
16. As per 2011 Census, the decadal growth rate of  16- 2011 @ TOFI & JFAR, ored A
scheduled caste population in Rajasthan was - IIYT A B FTEE ST E[% =
(1) 25.6% @) 26.1% o -
(3) 26.8% @) 27.2% L ik
(5) Question not attempted e o
(8) xR uw
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17. Vijaya and Shakti oil wells of Rajasthan are 17 <o ¥ fawrn dor wfte o BU Jaferd

located at-

(1) Barmer-Sanchore Basin
(2) Bikaner-Nagaur Basin
(3) Vindhyan Basin

(4) Jaisalmer Basin

(5) Question not attempted

18. In which agro-climatic region, Kota, Jhalawar,
Bundi and Baran districts are included?
(1) Sub-humid southern plain
(2) Flood prone eastern plain
(3) Humid south-eastern plain
(4) Humid southern plain

(5) Question not attempted

19. Match List-I with List-II and select the correct

answer using the code given below -

List-I List-II
(Lake) (District)
(A) Jait Sagar (i) Baran
(B) Bilas (ii) Jalore
(C) Ram Sagar (ii1) Bundi
(D) Bankali (iv) Dholpur Al
Bt
Code -

(1) (A)-(ii), (B)-(iii), (C)-(i), (D)-(iV)
(@) (A)-(iii), (B)-(ii), (C)-(), (D)-(iv)
@) (A)-(iii), (B)-(), (C)-(iv), (D)-(ii)
@) (A)-(iv), (B)-(i), (O)-(iii), (D)-(ii)
(5) Question not attempted

18.

19.

§_
(1) qreR—uER IR F

) dfremR—AriR R F

() o 9 &

@) SR IR #

(5) Srg<iRa U

STerarg uewr H gHfera 87

(1) Su—arrs <feroft Hem

() srg yfa gdf dsM

(3) a7 sféor—udt fge
@) arrd sfarft ds=
(5) 3rg=iRa ge :
A1 & GA-11 ¥ Gafera Sy aen wd
SR BT 999 A A e | BIfrg —
A1 A1
(&) (forem)
(A) S 9FR (i) ST
(B) fa=ama (ii) STl
(C) IMATR (iii) g
EIEX (iv) 9tAgR
T —

(1) (A)-(ii), (B)~(ii), (C)-(), (D)-(iv)
(@) (A)-(iii), (B)-(ii), (C)-(i), (D)~(iv)
(3) (A)-(ii), (B)-(), (C)-Gv), D)-(ii)
@) (A)-(iv), (B)-(), (C)-(ii), (D)-(ii)
(5) sraRa e .

20.  Areas of yellowish brown soil in Rajasthan are - 20- 3rowere # @efl—d 9a1 & &85 € —
(1) Jodhpur, Alwar, Bhilwara (1) Trﬁug'\' AN, HierarsT
(2) Bhilwara, Tonk, Udaipur (2) frearet, e, STAGR
(3) Nagaur, Ajmer, Tonk (3) IR, 3R, i
(4) Udaipur, Kota, Banswara (4) SR, Pier, IraarsT
(5) Question not attempted (5) ergaRa ueA
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21. Match List-I with List-IT and select the answer 21. gAI-I & JE-1 4 Gafera sifod R ¥8
using code given below - IR & Fg9 A Y 6T ¥ BT —
List-I List-II -1 11
(Mineral) (Mining Area) (@fren) (@ &=)
(A) Calcite (i) Relpatliya (A) dedTST (i) NergTdferar
(B) Barytes (i1) Belka Pahar (B) R13€H (il) SopT UBTS
(C) Fluorite (iii) Ram-Ka-Munna (C) TdARISE (iii) YTH—BT—F~T
(D) Rock phosphate (iv) Mando-Ki-Pal (D) P BB (iv) ArS—P—UTe
Code - awe —
(1) (A)-(ii), (B)-(iv), (C)-(), (D)-(iii) (1) (A)-(ii), (B)-(iv), (O)-(i), (D)-(iii)
@) (A)-(0), (B)-(iii), (C)-(ii), (D)-(iv) @) (A)-(), (B)-(iii), (C)-(ii), (D)-(iv)
@) (A)-Gv), (B)-(ii), (O)-(iii), (D)-(1) @) (A)-(iv), (B)-(i), (O)-(iii), (D)-(i)
@) (A)-(ii), (B)-(), (C)-(iv), (D)-(iii) @) (A)-(id), (B)-(), (C)-(iv), (D)-(iii)
(5) Question not attempted (5) 3r=ilRa e
22. According to 2011 Census, the Total, Rural and  22- 2011 @ ST & AR, ORI ¥ HA:
Urban respectively sex ratio in Rajasthan was - @, T AR TR ST fATgur o —
(1) 952,942, 926 (2) 922,938, 921 (1) 952,942, 926 (2) 922,938,921
(3) 928,933,914 (4) 975, 952,935 (3) 928,933,914 (4) 975,952,935
(5) Question not attempted (5) argaRa Uz
23. As per the Desertification Atlas of India 2016 by 23. T¥RT & W—W@ﬁ?ﬁ'\m Tead—-2016 &
ISRO, what was the total percentage of area of AR 2011 ¥ 2013 B €M oA BT fha
Rajasthan under desertification/land degradation Oiaed Y—HT ToRIIHRIT / &ﬁl T B
during 2011-2013? e or?
(1) 62.90% (2) 64.34% (1) 62.90% (2) 64.34%
(3) 63.90% (4) 60.73% (3) 63.90% (4) 60.73%
(5) Question not attempted (5) rgaRa u=
24. Which mountain peak is NOT located in the 24 DI Ydd fIRER SR RT@e U ¥ Iafverd
Northern Aravali Region? T2 87
(1) Roja Bhakar (2) Siravas el (1) IS AR (2) RRrar|
(3) Bilali (4) Barwara = e (3) faamelt (4) sxarsT
(5) Question not attempted (5) sraRa ued
25. Consider the following statements and select the 25- fa=forRad HHT W fIaR HINVT T2 & SR
correct answer using the code given below - T 99 9 D HE | HRY —
(A) ;,azii:zrc:ll:n l;l-ateau is situated in east of (A) TR TOR ST B ‘I‘f ¥ Rea 2
(B) Oriya Plateau is situated just below Guru (B) Sfsar wor as fRrer & ;h%[ Rerd &1
Shikhar. (C) gH=<x1 B! vgIfedl PreT iR &Y et &
(C) Mukandra hills are situated between Kota T2 Rerg £
and Bundi districts. e —
Code - %
(1) (A).(B)and (C) (2 (B)and (C) M Q). ®IRO @ B)IREO)
(3 (A)and (B) (4) (A)and (C) @) (A) 3R (B) @) ()3 (C)
(5) Question not attempted (5) srgaiRa o
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26. Which of the following pair (Cotton Textile 26- fmifoiRad # ¥ @ Iw (G =
Mill - Centre) is NOT a correct match? e — @) gafera &1 27
(1) Mewar Textile Mills - Udaipur (1) Hars TFeRd ey — SEREY
(2) Shree Umaid Mills - Pali (2 = ST faeq — el
(3) Rajasthan Textile Mills - Bhawani Mandi (3) oI SHeTsd e — War) He)
(4) Shardul Textile Mills - Sri Ganganagar 4) v cqveRd fed — SR
() Question not attempted (5) IrgiRa e
27. Sustainable Development Goal-13 (SDG-13) is  27- waq faem wea-13 (ESS—13) Fafa
related with - g -
(1) Gender Equality (1) <iffre FoFar
(2) Affordable and Clean Energy (2) w0 iR W Sl
(3) Climate Action (3) STerary HRaE
(4) Reduced Inequality (@) rHrar | S
(5) Question not attempted (5) argaiRa we
28. Which district of Rajasthan receives average 28 XTSRRI &1 PIFT orerr 70 WA, ¥ 2% sirad
annual rainfall of above 70 cm? aIf¥® auf 9T HRar 27
(1) Jhalawar (2) Jaipur (1) smemars () SR
(3) Ajmer (4) Bharatpur (3) IR (4) AR
(5) Question not attempted (5) argaiRa wes
29. According to Administrative Report 2023-24 of 29. X[ofed 99 fawrT @ wue  ufdded
the Forest Department of Rajasthan, the three 202324 & ATAR, I H Wai¥e g9 &
districts having highest forest area (in km?) in the (@ f5f ) & i R & —
State are - ; :
(1) Bundi, Sirohi, Banswara (1) %, e, :
(2) Udaipur, Alwar, Pratapgarh (2) SR, W e
(3) Udaipur, Baran, Karauli (3) STAY, I, HIe
(4) Chittorgarh, Alwar, Sirohi (4) foriisTe, sreray, R
(5) Question not attempted (8) SrgaRa s
30 As per Economic Review 2024-25, what was the  30. anffc el 2024-25 & or9R, a¥ 2023-24 3§
total unemployment rate in Rajasthan in the year SR H Fel RIS &% off —
2023-247
i) 2.00% @) 3.4% m (1) 2.9% (2) 3.4%
(3) 11.2% ) 4.7% 1.-..;3 i e A
(5) Question not attempted (5) eﬂﬂ?‘ﬁﬁ WA
31- In May 2025, how many Nationally selected 31- 7 2025 % #% URR® Fg, WuR gRT wRAT
teams participated in the Hackathon organized ol HaeT & 1109 9§ @ SUe § I
by Desert Regional Centre, Jodhpur to mark the TR ¥ U R W Tafg a3
110" year of Zoological Survey of India? T ferar?
(1) 16 (2 21 (1) 16 @ 21
) 25 4 11 (3) 25 @ 11
(5) Question not attempted (5) srgaRa g
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32. Rajasthan’s first = International  Artificial 32. afict 2025 H ORI BT USAT JRIEE
Intelligence Robotics Institute was started in fehlRrae 3%@@?[ Iy GRH
April 2025 at which of the following cities? FrfeiRad we”l 3§ 9§ foad uRY gair?

(1) Jaipur (2) Jodhpur (1) SR (2) SEgR
(3) Kota (4) Udaipur :_:i-l‘i' (3) Brer (4) SR
(5) Question not attempted T () AR we

33. Consider the following statements regarding 33- o Wy SiEfie fAeHrg vd Haw
Direct Allotment Policy-2025 of Rajasthan State foifiee 9 yuy aded A9H7—-2025 & 994
Industrial Development and Investment ¥ fr=fReg peFl ) RER o3 3k 98 e
Corporation limited and choose the correct ™ -
option - :
St (A) : This Scheme shall be applicable F (A) : TE A DI ST S R A

only to the entrepreneurs who grfl, el W=y
have executed Memorandum RISTRA—Tellge] graveHe |fie
of Understanding (MoU) up to 2024 & Hed # o uiferdy SINS
the date of introducing the 29 91 IfSr a9 f9Neg e
aforesaid policy in reference of SEREET (MoU) Frenfea frar
“Rising Rajasthan-Global 3
Investment Summit 2024”. s :
Statement (B) : In this Scheme, plots in oo () E‘m ?leFﬂ it ﬁﬂ%ﬁ i el
identified industrial areas will H @Sl BT rde ARET R
be allotted at 80% of the 80% R fdar Sirgm |
reserved rate. (1) %9 (A) 3R (B) T 9 & |
(1) Both statements (A) and (B) are true. (2) B9 HUF (B) T 2 |
(2) Only statement (B) is true. (3) B (A) @R (B) BT s £
(3) Both statements (A) and (B) are false.
; (@) $9d BT (A) 99 7|
(4) Only statement (A) is true.
(5) Question not attempted (8) STEeIRT e

34. Who among the following won gold medal for 34 f=foRed # ¥ fFad “war sfear g ™=
Rajasthan in 20 km cycling (girl’s category) in 2025 § 20 f&#A. wEfdeT (@faer o) o
“Khelo India Youth Games 2025”7 oTe™ & oy ol ggs Sfidr?

(1) Rukmini (2) Tanu Chandra (1) Sfemoft (2) 7g °=7
(3) Manju Choudhary (4) Rishika (3) =g ARy (4) RRm@r
(5) Question not attempted (5) 3R e

'35. Vedanta’s Rajasthan Based Subsidiary, 35- dgiar @1 vorere Red WEme wus! fRegw™
Hindustan Zinc Ltd. has signed an MoU in May f§e fafics 9 a8 2025 # oA @
2025 with the Department of Forest to rejuvenate fa=feolRad & 9 fow dvao Red &1 s™ree
which of the following conservation reserve in B & U gfA9RT & |1 e |gusiiar s
Rajasthan? (MoU) =R gwier oy 8?2
(1) Khetri (2) Ramgarh (1) T P '\’THTI_GT
(3) Baghdarrah (4) Bisalpur @3) qreest @) drreR
(5) Question not attempted (5) saRe e
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36. Which state secured the top position in First -

“Khelo India Beach Games” held in May 2025?
(1) Goa (2) Maharashtra

(3) Manipur (4) Nagaland

(5) Question not attempted

37. In the 9" BRICS Industry Minister’s meeting,
held in Brazil in May 2025, the new member
countries that participated were -

(1) Egypt, Ethiopia, Pakistan, Indonesia, Saudi
Arabia and the United Arab Emirates

(2) Egypt, Ethiopia, Iran, Indonesia, Saudi
Arabia and the United Arab Emirates

(3) Egypt, Ethiopia, Iran, Bangladesh, Saudi
Arabia and the United Arab Emirates

(4) Egypt, Ethiopia, Iran, Indonesia, Nepal and
the United Arab Emirates

(5) Question not attempted

38. The Subhash Chandra Bose Aapda Prabandhan
Puraskar 2025 in the institutional category for
excellent work in Disaster Management has been
awarded to -

(1) Gujarat Institute of Disaster Management,
Gandhinagar

(2) National Institute of Ocean Information,
Kandla

(3) National Institute of Disaster Management,
Delhi

(4) Indian National Centre for Ocean
Information Services (INCOIS), Hyderabad

(5) Question not attempted

39.  Which one of the following country is the host of

global celebrations for World Environment Day
20257 :
(1) China (2) Spain
(3) Republic of Korea (4) India
(5) Question not attempted

40. The theme for 9" Edition of India Mobile
Congress 2025 to be held from 8" to 11™ October
2025 is -
(1) Converge, Connect, Create
(2) Global Digital Innovation
(3) Transformational changes for emergence
(4) Innovate to Transform
(5) Question not attempted

i

36. wg 2025 # IMANTT o Tt sfear §= T

H fot g 9 N e wifie fear?
(1) ar (2) wERTS
(3) afTR (4) TS
(5) SR W

37. #3 2025 % Fiie H M odt fae wE

AT @ o H AT o el Y 9e <9

o —

(1) g, i, wifeeam, SSHftm, |ed)
3”9 AR HIF IRT IFR

(2) g, s, kM, SSMRET, I%dl 3Rg
3R AT 3RT IR

(3) g, sforfian, R, SiTaee, Eedl 3Re
IR HYHT 3RT IR

(@) i, sforftan, M, SeSMfm, -ure eiR
TGl IR IR

(5) sraRa W

38. 3UeT yaUH H IS B & foy wemra Sl

# GATY T JI9 3MUST Jee JREPR 2025 Y&

foar mar & —

(1) TSRIT ATIST Jee= HLA, TR

(2) Y AERITR AT HRIF, Bisel

(3) I 3nUST YeEE HRH, el

@) TR KT GENMRR gI 9al $g
(g TSN IME 1), TIRIETE

(5) argaRa U=
39. fomfaRad § & ®H9T Ue <9 fagg uaiewor
feaw 2025 & IRIF FARIE FT AoTE 87
(1) == (2 w=
(3) IRT TR (4) YRT
(5) srailRd wed

40. g3y 1137FCIR 2025 TF AT B aTel 33T
AESe BIUNT 2025 P 99 TXHIT P fH B —
(1) F=aut, Biae, fohue
(2) e fefes gae=
(3) STABHYT o BR FARGIE
(4) e g gEwH
(5) argeiRa weA
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PART -B

]

#1. An increase in Instantaneous Field of View #41- T&for & g (IFOV) # g =T wU 4
(IFOV) primarily results in a reduction of which fr=afeafRag & 9 59 91 FT RO 9941 87
of the following? (1) @ifers fove (SRR YoiegzH)

(1) Temporal resolution (2) e fes @R/ YieRE)

(2) Spatial resolution :

3) Radi . : (3) fafevofia fave (Famfcs YeieEM)
adiometric resolution

(4) Spectral resolution (4) o fawes (Ve i)

(5) Question not attempted (5) IrgaRd e

42. According to Maxwell equation, the electric 42- HaHdd HAIGRY & AR, fdggd fawd= (D)
displacement (D) is related to electric charge 3k ﬁ—%ﬁ AT T (pe) BT e & —
density (pc) asa— 0,

(1) curlD= a‘;c () curlD =—=
(2) curl D = p, (@) c1.1rl = fie
®) divD = p, D =pe

2
(4) divD = % (4) divD = at
(5) Question not attempted (5) IR e

43. The skin depth (8) and frequency (f) of an 43 fagr@ ﬂaﬂﬁ'ﬂ T B Rba S (8) 3R g
electromagnetic wave are related as - (f) &7 G & —

(1)505% (2) §ocf (1)505% (2 o f
(3) 505% (4) §oc f? (3) 80::% 4) §of?
(5) Question not attempted (5) aﬁﬂﬁ?{ g9

44. Which of the following is not a property of the 44 f=foRad # ¥ o Z-HUiaRT ( Z-SHH)
Z-transform? BT 0T T8I 87
(1) Linearity (1) XRg@Har
(2) Multiplication in time domain (2) w97 S 4 U
(3) Differentiation in time domain (3) WHY WA H ¥ewd
(4) Time shifting (4) 999 ETINT
(5) Question not attempted (5) g ueA

45. Which format is most suited for digital image 45- ¥RTiferd &= el § fefofea saw Wl
processing in Geographic Information System? % foIg §e9 SUYTT BiHe AT 87
(1) Bitmap (2) Vector (1) fciy (2) qaex
(3) Raster " (4) Tabular (3) Iex 4) cgeR
(5) Question not attempted (5) srgiRd weA

46. Which of the following statement is correct for 46- H=elcgRae Ay & foy f=foRea & 4
the magnetotelluric method? PITET BAT el 87
(1) Induced currents are measured. (1) UfRa we /U 9 & |
(2) Applicable to deep exploration of crustal and 2 qi_qﬁa 3N Hed & TEY AU B ﬁ:rq

mantle studies. 2 L BT 2 |
(3) One of the magnetotelluric methods is the (@) FeRraRe e § 9 e flaus.
VLF method. ©  (VLF) farr g
(4) Measurement of a very high magnetic field. (4) 5 9o GAP &5 BT AT AT o |
(5) Question not attempted (5) sraRa we
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47. The approximate vertical resolution of a 47 U® Udpo—fScaex WXATT ©d SUBRY Bl
single-detector formation density tool is - AT Feater favie grar 8 —
(1) 16 inches (2) 56 inches (1) 1659 (2) 5634
(3) 76 inches (4) 36 inches () 7631 (4) 3684
(5) Question not attempted (5) argaRa ue
48. Which one of the following electrode arrays has  48. fam=iferRad & & f5q godeie WPl & afdw
relatively highest vertical resolution for wWRd #Aegd & g veda w@e9 S
horizontally layered media? FErR e (SieEE) 87
(1) Dipole—dipole (2) Wenner (1) SEUd-srUe (2 IR
(3) Square (4) Schlumberger (3) IR (4) so=lw
(5) Question not attempted (5) raRa v
49. The ‘b-value’ in the frequency-magnitude 49- fivgeamdl, wHu o IMgRF—uRHT waa ¥
relationship of earthquakes at global scale is ‘b-a THT BNl B —
close to -
(1) 001 @ 100 Loy S
@) 1.0 4) 10 :
(5) Question not attempted (8) Srgaa we
50. Which one of the following statements is NOT 50. fam=fafRag & 9 @9« v & FohH HHHIT
correct about inverse problem? $ IR H el T8l &7
(1) It starts with recorded data. (1) 8 Refe fdy MY ST 9 Y& 81l & |
(2) It estimates the model parameters. (2) 38 Hiee RE} $T JIFAH I B |
(3) It predicts the data. (3) u7 e $ wfesmareh ) 2
(4) 1t’s harder to solve than their corresponding (4) S & BT HafSrd BRIS FHRT B Jorl
forward problems. 4 Bfe BT |
(5) Question not attempted (5) srgaiRa we
51.  Which one of the following conditions indicates 51- fam=feiRad # I =it v Rufy sef=fiRa
an underdetermined inverse problem? hH FHET Bl TN &7
(1) Number of local minima > Number of model (1) R YATH 3 G&T > Aisel IR &Y
parameters en
(2) Number of data points > Number of model (2) Ser figell o e > Hisa REeR) $
parameters e '
(3) Number of model parameters > Number of (3) dfeet WREfexi @1 wEr > sl gl @
data points |1
1% I ) . G
(4) Number of model parameters > Number of -;f'-'fﬁ”) disel IRFIeRl B e > R <A
local minima ae D
(5) Question not attempted (8) g we
52. Which one of the following logging 52 fE=foRad & | BIFT @RAT HIUT STaER BRIT
measurements is often restricted due to the IR dric @1 SuRefd & oo gfEfa g
presence of casing and cement? 04
(1) Resistivity (1) yfa_wersar
(2) Natural gamma radioactivity (2) wTpfe AT MRS
(3) Thermal neutron density (3) erfet R T
:;; gplthc?rmal neutron degsny (4) TRenia < T
uestion not attempte (5) s T
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53.

Which of the following subsurface material
property is utilized by the ground penetrating

53

fofoRed § 9 @9 qfa uerRl U
TEahE ACRIS U ST SUANT AN B

radar for exploration? oy TISs URefeT veR gr fhar o 87

(1) Velocity (2) Dielectric constant (1) 977 (2) sEdfded ReRi®

(3) Density (4) Resistivity (3) g7 (4) wioRTermar

(5) Question not attempted (5) SR Ue

54. In the Neutron Porosity Logs, the presence of 54 =g+ URIRY AT #, E¥a & ool &1 Suferfd
clay in the formation causes - J T BT 87 '

(1) An increase in neutron porosity (1) = uRIST o gfg

(2) No change in neutron porosity (2) == RIS # B I T8l

(3) Exponential decay in neutron porosity (3) == URINST H T &g

(4) A decrease in neutron porosity (@) =g IRIfEr A B

(5) Question not attempted (5) FrgiRe ue

55. Boltzmann's Law describes the relationship 55 dlecoiid &1 o fhda 9 ddg &1 avH
between - ERGIRY

(1) Wavelength and frequency (1) a¥reed 3R smgfRy

(2) Radiant flux and surface roughness (2) Qftg= yarE iR Hag Graxud

(3) Temperature and energy emission (3) o 3R oIl Soaeid

(4) Reflectance and emittance (4) TRTaeH 2R IHoA

(5) Question not attempted (5) argeiRa ueA

56. When a seismic wave is normally incidenton an ~ 56. T4 ®IE YHUF TR T e Gfoamen A=
interface of acoustic impedance contrast, it arell ddg N Afeigad | amufod Bk ©,
gets - Hqgi

(1) completely absorbed. (1) @ TYE eI & el 2

(2) partially reflected and partially transmitted. @) (ﬂﬁ? w0 ¥ wrEfdd AR e w9 W _

(3) completely reflected. A - il Gﬁﬁ 8l

(4) completely refracted :&é Gl g o B STA &

(5) Question not attem t d St Bl &)

e (5) IrgaRa e
57. In the context of remote sensing, which of the 57- Reie R & ded # f=feiRad # & 39 Y
following best describes Rayleigh scattering? P BT FIH ST qui Bl &7
| _ (1) gt S W SR & T B BT

(1) Scattering thatl occurs due to large particles T 2
such as aerosols. % gt

g; gcatter?ng caused by cloud droplets. : ::: W;: : Eﬁ?ﬁgﬂmﬁ At Eﬁl =

cattering t}§at does not affect the quality of S i e & g
the satellite imagery.

(4) Scattering that happens when the scattering (@) yoriT 9 B 8 S .moh =
particles are much smaller than the ﬁ'gﬁ—g@iﬁ?l fafeeor & a¥Tesd W@ 95d
wavelength of electromagnetic radiations. BIC B E |

(5) Question not attempted (8) SrgeiRe oo :

58. The gradient of a scalar field @ is - 58. U@ afewr & ¢ T YAUT © —

(1) Tensor (2) Zero (1) % 2 =

(3) Vector (4) Scalar (3) wfesr (4) arfesr

(5) Question not attempted (5) sraiRa ue
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59. Which one of the following wavelength range 59 f=faiRad § ¥ I & axoed ¥ ood
represents the excellent atmospheric window? gy fdel ®I g &7
(1) 8 um to 14 pm (1) 8 um 9 14 um
(2 1 pmto3 pum (2 1 um ¥ 3 um
() 0.7 umto 1 pm () 0.7 pm ¥ 1 pm
(4) 30 um to 36 um (4) 30 um ¥ 36 um
(5) Question not attempted (5) 3rgmiRe ueA
60. Which one of the following factors does NOT 60. o & & ®\9aT t& &R& 5l g™ a1 GEl
affect specific yield of a rock or soil? 31 faR¥re Iaredar & warfaa T8} erar?
P
(1) Time of drainage (1) via R &1 T
(2) Compaction of stratum (2) TG &1 Fure
(3) Volume of water it will retain (3) g8 Wit 91 o9 I8 A @
(4) Grain size and shape (4) YT BT IFMHR AR AP
(5) Question not attempted (5) SrgaiRa U
61. Which of the following is used to measure 61- B ERI—3eRT Hadl & g THFEGT BT 7T
similarity between two different signals? @ ﬁ'lg?lil“iﬁlliélil q W feeer sugn fem
(;) Fourier transf(‘)rm (2) Auto-correlation ) cﬁ' S i %
(3) Cross-correlation (4) Z-transform @) FrE—aEey (4) Sre—giawh
() Question not attempted (5) SrgaRd ye=
62. Select the correct answer for the following two 62 frifeiRaa <1 Pl & for W& TR T —
statements — ST (A) : 3 e e
Statement (A) : The strength of the Earth’s () g—cﬁ o T&ﬁ . : &
magnetic field at the poles is A X B gl T &7 A
approximately double that at 2
the equator. N 5
Statement (B) : Natural remanent magnetization U (B) : Wpia BEEERE @
plays a key role in e a5 fafdeamwii & gasE o
understanding past magnetic Tewagel fieT fwm
field variations. 30 Bl
(1) Statement (A) is true but Statement (B) is (1) B2 (A) |G © <ifbd HoH (B) 3 2|
false. : (2 FoF (A) I & Al B2 (B) 9 |
(2) Statement (A) is false but Statement (B) is , 59
b o e (3) <1 U (A) SR (B) 3T £ |
(3) Both statements (A) and (B) are false. ,i““?% (4) M1 B (A) R (B) O ¥
(4) Both statements (A) and (B) are true. i
5 S]a-ﬂﬁﬂ
(5) Question not attempted o Ll
63. In which region, after crossing the 3. ¥V B UR B B IIE, AR BT g
magnetopause, charged particles are confined by B Yahig &3 NERi g b &= § diftg &2
Earth’s magnetic field lines? (1) e
1 i £
D s o iy
(3) Magnetoghcath (2) Pl o e
(4) Van Allen radiation belts @) T fafReT
() Question not attempted (5) srgaRa s
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64. The largest negative geoid undulation (-105 m) 64 Fe TSI TIRHS RHES AT
is situated in - (105 #iex) Ur T B —
(1) Austria (2) Australia (1) 3sfifRear (2) 311'.@%’&1
(3) Pacific Ocean (4) Indian Ocean @3) yvid TeErR (4) f¥e wENER
(5) Question not attempted (5) SrgeRa e '
65. The concept of Isostasy refers to - 65. gl B AdHeuAT Hed § —
(1) Rotation of Earth’s core (1) 9l & DR & T A |
(2) Earth’s magnetic variations (2) gedi & gaaig f=iar 4
(3) Balance between crust and mantle due to 3) suea IR Feor & 99 SAEGT B BN
buoyancy Hge ¥
(4) Movement of plates at ridge 4 R W el & T
(5) Question not attempted (5) (‘ﬂﬂﬂ'ﬁﬂ IS
66. . Which one of the following is the most reliable 66. fr=faiReq % & @ T Yfdawr &
method for estimating aquifer hydraulic = BEgfIE FefFR &1 JFAH aH & foQ
conductivity? w9y favaag &7
(1) Auger Hole tests (1) 3R Bra gdegor
(2) Tracer tests (2) 2= gderor
(3) Pumping tests of wells (3) Ege,ﬁ HT GIT TeIeToT
(4) Laboratory estimation by permeameter (4) Ny gffgriey grT A
(5) Question not atternpt_ed (5) :r:mﬁ?r T9q
67. Which of the following condition shows the 67. f=foRaa # & @Al Rafy fag@ geor
presence of a good conductor in the fafoa} § 9 Us o8 dede} o SuRkfa U
electromagnetic methods? 7
(1) The ratio of the In-phase’ and (1) Fbed fagagee g3 & TH-B9 3R
7 components of the secondary : 3
electromagnetic field is very low. HeT Pl T Soet. 8|
(2) The phase angle is maximum. (2) B D17 ST % |
(3) The ratio of the In-phase and 3) JApe fAga deo &9 & FT-Ba 3R
Quadrature components of the secondary Fl;ﬁb FATgAR TCHI DI AU 984 3ferh 2|
electromagnetic field is very high. "1‘“‘*‘"*’(4) P A Rgd gedg & T8 2|
(4) There is no secondary electromagnetic field. 5) o3
(5) Question not attempted 3
68. Which part of electromagnetic spectrum is 68- HgHIAd RAE ARFT ¥ fEagaery Waga &1
mainly used in Microwave Remote Sensing? DT IRT &I w9 ¥ SN Har Srar 27
(1) 0.4 pm - 0.7 pm (1) 0.4 pm - 0.7 pm
(2) 0.7 um - 1.3 um (2) 0.7 um - 1.3 um
(3 10 pm — 12 pm (3) 10 um - 12 um
4 Imm-1m @ 'mm —1m
(5) Question not attempted (5) sraRa e
90 - # Page 14 of 32



69. Which correction reduces gravity values based 69- HFET TR WA IR FYg dd P d
on the mass between the station and sea level? SEHE B AER R [BEGYY Gl Pl HH
(1) Terrain correction AT &7
1 PRI
(2) Drift correction M &
: : 2) fgre Txae™
(3) Free-air correction
s (3) BT BRI
4) Bouguer correction
3 : gisee (4) SR B
(5) Question not attempted o (5) R wed
: Ahda
70. Which of the following plots is compared with 70- IuHds fdgd AT &1 9H & & fog
master curves to estimate subsurface electrical frfaRed § 9 59 @i @ o aRex &4
structure? & B ¥
(1) Log-log plot of measured potential verses (1) T I A TS AT BT SA—atT wite
current (2) goiagrs WRET qw A g fvMa @
(2) Log-log plot of measured potential verses SFT_eT e
electrode spacing @) s IR S B o Lo Tl
(3) Log-log plot of current verses electrode 3 ;
R @) zoage WRIT i Twe YRReRE @
(4) Log-log plot of apparent resistivity verses oo B 8 :
: CIFT—ell T Wi
electrode spacing
(5) Question not attempted ©) a3 o
71. Which one of the following magnetometer is 71- f=foiRead § ¥ @91 U6 F=erler 99
suitable for the measurement of remanent ECLTS) B 999 P g ST 27
magnetism? 1) \ @) 3R e
(1) Fluxgate (2) Optical-pump 4
. : 3) fRaR @) -t
(3) Spinner (4) Proton-precession
(5) Question not attempted (8) SrIe W
72. Seismic arrays improve earthquake detection 72- U WRIOAT HY BT YT T H YR FHeil
by - g —
(1) Mapping earthquake probability (1) Y@HU HT FAGHT BT HH =0T
(2) Creating 3D maps of mountains (2) ygrsi & 3D HFERA I
(3) Filtering surface waves (@) waE X PT e
(4) Reducing seismic noise and increasing (@) q@d s B FH BN AR R
signal clarity ST el
(5) Question not attempted (5) SR e
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73.

74.

Match the type of well logs (listed in Group I)
with the characteristics of measurement (listed in
Group II).
Group 1
(P) Caliper
(Q) Neutron
(R) SP
(S) Sonic
Group II
(1) Hydrogen concentration in pores

(2) Velocity of compressional waves
(3) Borehole quality measurement

(4) Natural electric potential

(1) P)»-(3), (Q—4), R)—(1), (S)—(2)
@) P)-(3), (Q—(1), R)~(#), (S)-(2)
@) P)-4), (Q—(1), R)~(2), (S)-(3)
@ P)-4), (Q-(3), R)—-(2), (S)~(1)
(5) Question not attempted

73. 9a |fT & USR (8 1 ¥ gdidg) &1 419 6

faivamil (9 ¥ gdes) & AT e & |
e 1
(P) BferaR
(Q) st
(R) TEL.
(S) @
sgE 1T
(1) fogi # sEsom g
(2) FdrST T BT o
(3) IRETSA IUTET H1Y
(4) srgpfas fagg e
(1) P)-3), (Q-@), R)—(1), (S)-(2)
@) P)-(3), (Q—(1), R)—(4), (S)—(2)
@) P-4, (Q—(1), R)~(2), (8)-(3)
@ P)-4), (Q-(3). R—(2), (S)~(1)
(5) srgaRa e

4

The Self-Potential log provides a strict 74 TW—fdg @R HOR AAHS H10 Yo BT
quantitative measurement of - g -
(1) Temperature of formation (1) G==T &7 a9
(2) Formation water salinity (2) F=AT 5T Bl a-qtr[aT
(3) Permeability of formation (3) H¥g=T B YRITET
(4) Lithology of formation @) |=ET BT ST
(5) Question not attempted (5) IrgRa U
75. Which one of the following is the correct 75 famfofRaa # & fFw feew # fRy WU
sequence of increasing mean hydraulic St /eraifora fedifiel @1 eiId (mean)
conductivities of the given rocks/unconsolidated BISSIfeld HSfdeide! & dgd 8U $HH BT Fel
deposits? 3ghH 2?
(1) Sandstone-Karst limestone-Shale (1) VSEH-PRE FAT TR—IIeA
(2) Shale-Sandstone-Karst limestone (2) ¥ ~HRE AT TR
(3) Sandstone-Shale-Karst limestone (3) HewRH—A—FE AT TR
(4) Karst limestone-Shale-Sandstone (4) P AT TR AT
(5) Question not attempted (5) srgaRa o
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76. Which one of the following statement is correct ~ 76-

for the Induced Pulse Transient (INPUT)

electromagnetic system?

(1) No transient for a shallow conducting body. ;'!;-‘_;

(2) Relatively large values are found in all -

channels for a shallow conducting body.

(3) No response in channels for a shallow
conducting body.

(4) Relatively large values are found in all
channels for a deep conducting body.

(5) Question not attempted

77. The Zeta potential is produced by the interaction  77-

of -

(1) solid-liquid surface

(2) air-solid surface

(3) liquid-liquid surface
(4) solid-solid surface

(5) Question not attempted

78. Select the correct answer for the following two 78

statements related to seismic NMO correction -
Statement (A) : As depth increases, the NMO
correction becomes smaller.
Statement (B) : Greater offsets result in higher
NMO correction values.
(1) Statement (A) and (B) are false.
(2) Statement (A) and (B) are true and (B)
explains (A).
(3) Statement (A) and (B) are true and (B) does
not explains (A).
(4) Statement (A) is false and (B) is true.
(5) Question not attempted

79. Lee-partitioning electrode array is a variation 79

of -

(1) Wenner array

(2) Schlumberger array
(3) Dipole-dipole array

(4) Pole-dipole array

(5) Question not attempted

frafofad ¥ ¥ U 99T $oF RS (35ITS)

Ued giferee (INPUT) Soideiiies Rived @

forg @@ 27

(1) Serer Farer e (Se el 1) frg
g giforge w18l 8|

(2) Sct HareH fUis (e ssfaeT dre) & forg
Y Tt § goree Y A g8 H1 e
2|

(3) Sorel Tare fie (@ defdeT df$)) & forg
el § g ufafear T8 gxil |

@) TR FaeH fis (Su ssfaeT 9€) & forg
4 Al § JoToTd B 9§ g9 A7F e
=

(5) srg<iRa we :

Sirer tefRme f=falaa & 9 fow weR v

¥ IO BT 87

(1) S—aXal 9d8

(2) arg—ore waE

(3) ARI—¥eT Ads

(4) I -3 g

(5) sr<iRe WA

e NMO BRI (seismic NMO correction)

¥ Fatg fAmfeRed <1 sl @ forg 8! SR

Ty —
P (A) : SI—oi TS 9gdl &, NMO
PG B BIAT STdT © |
$YUF (B) : AfF AHHcH & IRUTHEHY,
NMO TR & 7 s 8 & |
(1) BT (A) IR (B) I & |
(2) P9 (A) IR (B) I & 3R HUF (B) U
(A) BT IRAT BT & |
(3) 2T YU (A) 3R (B) 9 & a1 HU (B)
PHUF (A) P AT &l Bl © |
(4) B (A) T & 3R FUF (B)FA B |
(5) argaRa U '
e goage TR U6 TR § —
(1) g== &=l &1
(2) vk axoft &1
(3) STEUIT—SEU TRefT BT
(4) drg—srsurel axofl &1

(8) IR we=
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80.

81.

82.

83.

90 - H

The bright spot represents which of the 80

following?

(1) Gas-oil/Gas-water interface
(2) Bed rock interface

(3) Buried channel

(4) Water table

(5) Question not attempted

The use of Seismic Refraction Survey is NOT 81

applicable for -

(1) Pipes/Metal detection

(2) Depth to bedrock estimation
(3) Permafrost delineation

(4) Rock strength estimation

(5) Question not attempted

T

Wyllie time-average equation is used for — 82.

(1) Porosity from Neutron log
(2) Porosity from Density log
(3) Permiability of rock

(4) Porosity from Sonic log
(5) Question not attempted

Which one of the following statement is correct 83

for an aquifer assuming Darcy’s law?

(1) The rate of groundwater movement will be
low for the aquifer with a higher hydraulic
gradient, assuming the same hydraulic
conductivity.

(2) The rate of groundwater movement will be
low for the aquifer with higher hydraulic
conductivity, assuming the same hydraulic
gradient.

(3) Groundwater velocities often decrease with
depth due to a decrease in porosities and
permeabilities.

(4) Groundwater velocities often increase with
depth due to a decrease in porosities and
permeabilities.

(5) Question not attempted

Darcy’s law relates the flow rate through porous ~ 84-

media (Q) to the head loss (hr) and the length of
flow path (L) as -

NQxZE @q«i

h? ]

(3) Qo7 @ Y%

(5) Question not attempted

grgc wWie f=faRaa # 9 faer <wifar 27
(1) re—sifget / Ae—dfex e

(2) =R gevBd

3) <&t g5 (@%s) A

(4) S R

(5) Sr<iRd we

YHUId IUac_ FagvT HT IUANT fhas fig
SUYa el 87

(1) U139 /o1g @ UgaE & forg

(2) 9@ BT TERTE B ITAE B g

(3) uHiEe ® =T & forw

(4) ggM DI qHd B AFA B forg

(5) IrgaRa g

qrIE AT THIeReT BT Sy fhds
forg b wirar 22

(1) & @Rt | TRy

(2) g9 | | AN

(3) FgM & yRITEar

(4) |1 e &R | |_udan

(5) IrgaiRa g

fodt tflams & fog seit & fam

(Darcy’s law) BT T gJ frafofReg & &

BT BT TET 27

(1) afe sEsifed ssfdefad) g 8, ar S
E@mmmqﬁawﬁﬁﬁ?mw
HT Ya18 X HF BN |

2) Iz smsfoe Ifsie wwE 8 o 9=
Bgglfcid Hefdefad! arel gfdamy # yfamrd
STel T Y18 X $H BT |

(3) YfrTd T HT AT (@A) TR TEWTS D
|1 Hedl & il TRINST 3R U
(rfAufaferd)) aed 21

(ﬂ@mwmﬂvww@zﬁwm

Fife ORI IR ORI

(q?ﬁlqri%ri%m)a?cﬁﬁ

(5) sr<iRa U

st @1 AT 59 yeR S 9aTE &% (Q), 'S

SN (hy) 3R U418 97 &1 @id1s (L) @ A1 e

wrfag Hwar &7
¢ 2k 2) Qo
(M Qux @rQ e
h? L

(3 Qocit @ Qo

(5) areiRe e
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e e, S SRR, AT SURIRET

85. Which Approach is more suited for solving 85
partial differential equations in systems with a1 Refeai o Red d 3R @dd
heterogeneous composition, irregular geometry TGN B B B D (g DD SUGRT
or unusual boundary conditions? g —
(1) Finite Element Method (1) wgATSe Uferie fafdr
(2) Liebmann Method (2) fogd= faf
(3) Alternating-Direction Implicit Method (3) sifeeAftT—srR®EH sfraRie fafr
(4) Finite Difference Method (4) wrgaTsCe femey fafyr
(5) Question not attempted (5) argaRa ueA
86. Which one of the following pairs is NOT 86. faw=ifeiRad # & B U g™ Wl Gaferd &l
correctly matched? 2?
(1) Gravimeter-no temperature sensitivity (1) Afedfe—amam & ufa Gagaeiiean T8l
(2) Unstable Gravimeter-Zero length spring (2) areae Afafier—<iRT o= R
(3) Unstable Gravimeter-Astatic type (3) sifRer Afadier—Tefes uarR
(4) Gravimeter-Drift variation 3) AfFfer—fgre gRad=
(5) Question not attempted (5) aa-ﬁﬁa goq
87. In which of the following type of satellite 87- fo=ifeiRad # & f&d yHR &1 IuUs THNI ¥
imagery do water bodies typically appear dark or el e 9MEa: TEY AT Bl foErs <d 87
zlfcg-’ T (1) e savad (AR 39Re) Sl
ear infrared imagery AR
(2) Visible imagery :3 %( ) (z_:;ﬁ £
(3) Thermal infrared imagery : . :
(4) Microwave imagery (4) HrgHIAT TS -
(5) Question not attempted (5) Sﬁ?ﬁ?ﬁ WA
88. Which one of the following is related to the 88. fymfoRad # & HIaT qeCI—dfRiG &F 4
Wadati-Benioff zone? EIEE I
(1) Subduction zones (2) Transform faults (1) wesFEH (2) TiBH Blecd
(3) Rift margins (4) Mid-ocean ridges (3) Rye A= (4) Fe—HETErRIE RS
(5) Question not attempted (5) eIk U
89. The rotation of Earth causes the Earth’s shape to  89- Jedi & §0iF & PHRUT Yedl &1 MHR BIAT & —
Ee) kb bl Al il mmm
oblate ellipsoi :
(2) A prolate ellipsoid e g: g ;;T A
(3) A perfect Hyperbolic shape E‘E_E
(4) A perfect sphere L5 @ v ot e
(5) Question not attempted (8) rgeRa e
90. Damping that delineates two different types of ~ 90- \T ST ST BINFT Hua @1 arguRefy ¥ a1
seismometer response in the absence of a forcing eT—3felT fErer ufafhamil & gofar @
vibration is called - P S — '
(1) Over damping (2) Critical damping (1) 3= <A (2) frfeama S
(3) Under damping  (4) Half damping (3) siew T (4) BTH Sy
(5) Question not attempted (5) srpaRa we
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91.

92.

93.

94.

%05

What type of fault is related to the focal

mechanism shown in the figure below?

(Gray and White colors are regions of

compression and dilatation, respectively.

P = compression, T = tension) -

(1) Normal fault (2) Strike-slip fault
(3) Nuclear explosion (4) Reverse fault
(5) Question not attempted

To measure spatial resolution, GRD stands for -
(1) Global Resolved Distance

(2) Ground Resolved Distance

(3) Ground Resource Distance

(4) Global Resource Dividend

(5) Question not attempted

Which of the following pair has a correct

Self-Potential (SP) and Resistivity Well Log

response?

(1) Massive sulphide deposit — High SP,
Graphite deposit — Low resistivity

(2) Massive sulphide deposit — Low SP,
Graphite deposit — High resistivity

(3) Massive sulphide deposit — Low SP,
Graphite deposit — Low resistivity

(4) Massive sulphide deposit — High SP,
Graphite deposit — High resistivity

() Question not attempted

Approximate average density of metal silver is -
(1) 10.5 glem? @ 7.3 g/em?

9. J iy v fam ¥ fe@w U Bied fefw |

[T ¥ BT YBR 1 27 (R (@) iR awg
[T HAY: HUISH R TR B &7 BT I &
P = ¥iled, T = d9M@) —

T
(1) e 99 (2) wEe—Rau g9
() e e (4) Raw ¥
(5) rgalRa e

- e Relfege™ &1 999 & foflg, GRD &1

aef 8 —

(1) weiiget Reifess e
2 7Ss Reifes Rew
@) < REn e«
@) e Rad ¥fass
(5) ergaiRa ueA

. PrefoRed ¥ @ few g % w-fva @

(SP) 3R wfeRwar (RRefd) Ja <
ufafshrar w2 87

G (1) faener Howgs WeR — 3t TH.ULIBES

HeR — BH gfermdar (RRaRefad)

(2) faurel TeBlES WeR — FHH THYL, UBES
HoR — e ufiRmear (RRkefad)

(3) fagel Godise HSR — &H THdl, YBIEe
HeR — o9 uferrsar (RfuRefad)

(4) Ree GeHIEs HeR — e T, dBEe
HeR — e ufekewar (RRaRefad)

(5) argailRa e

. T P o1 BT AT TG T BT § —

(1) 10.5 g/em’ (2) 7.3 g/em®

3) 9.1 gem® (4) 17.0 g/em’ (3) 9.1 g/cm’ (4) 17.0 gem?
(5) Question not attempted (5) arg<IRa U
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95. "'Match List—I with List-II and select the correct

answer by using the code given below the lists -
List-1

(A) Upward continuation

(B) Euler deconvolution

(C) Second vertical derivative

(D) IGRF
List-11

(P) Interpret depth and geological structure

(Q) Source edges

(R) Low pass filter

(S) Theoretical geomagnetic field strength

Code-

M (A)-R), (B)-(Q), (C)-(S), (D)-(P)

(2 (A)-(Q), (B)-(P), (C)-(R), (D)-(S)

(3) (A)-(R), (B)-(P), (C)-(Q), (D)-(S)

@) (A)-(P), (B)-(Q), (C)-(R), (D)-(S)

(5) Question not attempted

- Match List-I with List-II and select the correct

answer by using the code given below the lists —
List-I
(Parameter)
(A) Storage coefficient
(B) Hydraulic conductivity
(C) Intrinsic permeability
(D) Transmissivity
List-IT
(Unit)
(P) m/day
(Q) m*/day
(R) (um)?

(S) Dimensionless

Code - %f{f

(1 (A)-(R), (B)-(P), (C)-(S), (D)-(Q)

2 (A)-(Q), (B)-(P), (C)-(R), (D)-(S)

(3) (A)-(P), (B)-(Q), (O)-(R), (D)-(S)

@) (A)-(S), (B)-(P), (C)-(R), (D)-(Q)

(5) Question not attempted

- The piezometric surface of a confined aquifer
having a thickness of 20m is lowered by 2m over
an area of 1 km?. Considering the aquifer storage

coefficient value 8x1073, the volume of water
released will be -

(1) 1,60,000 m? (2) 32,000 m?

(3) 1,600 m* (4) 16,000 m?

(5) Question not attempted

95. ql-yﬁ_l P Qi—zﬂ

—I1 & W e @ &R gl
%_ﬁﬁﬁvwzﬁ;mwmﬁw‘

a1
(A) ITTE HFCYTI
(B) IR SrHTdIegz

(C) TURT FHARR JdHerst
(D) 31TS.S.3R.U%. (IGRF)

—11
(P) TeNTs 3R TEAT DT AT B
(Q) |ra T (| Toiv)
(R) & u¥ fheex
(S) Agifed F—gadrg &= B dra
ﬁa._
(1) (A)-(R), (B)-(Q), (C)-(S), (D)-(P)
2) (A)-(Q), (B)-(P), (C)-(R), (D)-(S)
(3) (A)-(R), (B)-(P), (C)-(Q), (D)-(S)
(4) (A)-(P), (B)-(Q), (C)-(R), (D)-(S)
(5) argeRa g

- gE-1 B 9 G-I B e e iR gl

% A U Y FHe FT SWRT TR el )
BT AT B —

(P) m/day

(Q) m*/day

(R) (um)?

(S) fore (SrE=eer)

az\? —_—

(1 (A)-(R), (B)-(P), (C)-(S), (D)-(Q)
(2) (A)-(Q), (B)-(P), (C)-(R), (D)-(S)
() (A)-(P), (B)-(Q), (C)-(R), (D)-(S)
(@) (A)-(S), (B)-(P), (C)-(R), (D)-(Q)
(5) Sr<iRa U

- Uh 20 WX HIEE del HABlES  UfREWR

@ GoAfes adg 1 T fhadier &9%a 4
2 Hex e well Wil 8| Ak STerd &1 e
TUd 8x107° B, @ AdIel U WA &1 A
e grr?
(1) 1,60,000 m3
(3) 1,600 m

(5) JrgiRa we

(2) 32,000 m?
(4) 16,000 m*

90 -
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98. The dependence of velocity on wavelength is 98
termed as -

(1) Absorption (2) Attenuation

(3) Dispersion (4) Refraction

(5) Question not attempted

Which one of the following is the value of
gravity ‘g’ at the Core-Mantle Boundary?

(1) 9.8 m/s* (2) 7.8 m/s?

(3) 10.8 m/s? (4) 12.8 m/s?

(3) Question not attempted

99. 99.

100. The Normal Moveout Correction (AT) in seismic

data is related to zero offset time (to) as -
(1) AT o« t§ (2) AT « =

0
4 AT « =

to

(3) AT « t,

(5) Question not attempted

101. Earth’s flattening at each pole is -
(1) 10.2km (2) 14.2 km
() 7.2km (4) 5.2 km
(5) Question not attempted

102. Which resistivity logging tool is able to identify
the thin bed sharply?

(1) Induction log

(2) Micro spherically focused log

(3) Normal log

(4) Laterolog

(5) Question not attempted

Which one of the following is NOT correct about

Hamming Window (HW)?

(1) The stopband attenuation for the HW is
larger than that of the rectangular window

(2) The mainlobe total width of the HW is —

M+1
(M = Order of filter).

(3) The transition band of the HW is larger than
that of the rectangular window.

(4) The stopband attenuation for the HW is
smaller than that of the rectangular window.

(5) Question not attempted

103.

104. According to the Nyquist-Shannon Sampling
Theorem, what is the minimum sampling rate

required to avoid aliasing for a signal with a

100.

101.

102.

103.

P
=F

“(3) HW @1 gifored 98 vacer fder &l ge

104.

TN R 7 @ FRiRar $1 wEr ofer & —
(1) 3raeiyor (2) &=

(3) Bema (4) g+

(5) srgaiRd ueA

PR—Acd WH W T9H 9 PG Th qF
THTHY ‘g” FT 872

(1) 9.8 m/s* (2) 7.8 m/s?

(3) 10.8 m/s? (4) 12.8 m/s?

(5) argeiRd ueH

U Iidel #, AMcl YIIMMSC PR (AT)
HT I IATHHC TG (to) & HaT & —
(1) AT = t§ @ AT «

(3) AT x t, (4) AT « %
(5) arg=IRa ue

TAF g9 W A TSR Bl 8 —
(1) 10.2 fo5A. (2) 14.2 &
(3) 7.2 fbA. - (4) 5.2 f&AnL
(5) Srg<iRa e

BT GfeREIRT AR T Udel 98 Bl 38
IRE | TSI H |eH 87

(1) e i

(2) ATZHI MATHR Disd AT

(3) |E=I T

(4) ofcRIEnT

(5) Sr<IRe ue

ﬁw%r%lﬁﬁﬁzmﬂwzﬁeﬁ%ﬁﬂﬁs‘r(m

& IR ¥ 9el T8l 87

(1) HW @ ®uds iequer Yacer et &
s B 2 |

(2) W%Wﬂﬁﬁﬁ@@hfrl"&ﬁ?ﬁ?(l\d
= fheer @1 3y |

991 BIT © |
(4) HW & wiids equeF ¥ er e 4
HH B © |
(5) srgaiRa e
rgfare—3 TATHRY JHY B ITER, 10 kHz
& Jfipad AGRT Ted a Riee & forg
SfrIRT & g9 & oY 3maedsd ~YAaH T

maximum frequency component of 10 kHz? X T 87
(1) 20 kHz (2) 25 kHz (1) 20 fHarEey () 25 frdEeT
(3) 10 kHz (4) 5kHz (3) 10 fFaEds @) 5 freeds
(8) Question not attempted (5) IraiRa e
Page 22 of 32
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105. What is the typical property of a self-potential ~ 105. &Nfeas HedTES JIATH W W—fawa fawfar @
anomaly over metallic sulphide deposits? |G T[0T T BIT 87
(1) Central negative anomaly (1) @g § FonEs faETfa
(2) Central positive anomaly (2) @2 ¥ garHe fadfa
(3) No consistent pattern (3) ®13 gETd Ye &l
(4) Alternating positive and negative anomaly (4) TP 3R TS BT dbfeqd fAgfa
(5) Question not attempted (5) 3rgaiRa w=A

108. Simpson’s % rule of numerical integration 00 RFUEH B WIS THIBRYT B % fram e
approximates a function using - SYART FRD Y B BT AN Tl 87
(1) 1% order polynomial (1) gom DIfe Iguq
(2) 4™ order polynomial (2) =g PIfe Igue
(3) 2" order polynomial 3) fgfra @ife sgus
(4) 3 order polynomial (@) g $ife sgue
(5) Question not attempted (5) argaRa ue

107.In the Spontaneous Potential Method, the 107- Wawad fowa Ay # faga—mamfe fava
electrochemical potential is due to - : f1 & FRT BT ® —
(1) Both Diffusion and Nernst potentials (1) fERo 3R T fawg <=1
(2) Diffusion potential EE! (2) fauRor fava
(3) Nernst potential (3) F+w fawa
(4) Membrane potential (4) freet fava
(5) Question not attempted (5) eﬂﬂﬁa g

108. Stokes’ Theorem relates to - 108. 31y &7 9T HefSd & —
(1) Line integral to surface integral (1) |ag W= & forg @ A= 9
(2) Gradient to curl (2) Pot B B forU yguiEar |
(3) Volume integral to surface integral (3) Hag = & forw smgas o= 4
(4) Surface integral to volume integral (4) g+ = & forv gag = 9
(5) Question not attempted (5) SrfaIRa =

109. A magnetometer is located 10 km North and 109. Y% #H+criler Ud Hed w99 o 10 &
10 km West of a reference station at which the IR 3R 10 AL u¥em F Rera 8, o=l de
reference magnetic field is 49,000 nT with Yadb1g &3 49,000 nT & | S WM WR Jefeia
latitude and longitude gradients are 2 nT/km (SR & faen #) sk < (@R=m & fasm
North and 1 nT/km West, respectively. What is ) YUy A 2 nT/km 3R 1 nT/km & | afg
the magnetic anomaly at magnetometer site if the Feiey Wd N arEidd w9 9 AT T
actual observed magnetic field at that site is ?_J,Tslﬁﬁ'é?l &3 50,000 nT &, O 981 gadb1g fawfy
50,000 nT? 27
(1) 550 nT (2) 205nT (1) 550 nT (2) 205 nT
(3) 310nT (4) 970 nT (3) 310 nT (4) 970 nT
(5) Question not attempted (5) orgaRa wed ;
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110. Passive microwave sensors used for Earth

112.

113.

114,

+ Which

observation typically operate in which of the
following wavelength ranges?

(1) 8 um - 14 pm

2 1mm-30cm

() 0.4 um - 0.7 pm

4) 1cm-10cm

(5) Question not attempted

of the following statement is

INCORRECT for the Induced Polarization

Method recording?

(1) Time domain methods determine the metal
factor.

(2) Frequency domain methods measure the
apparent resistivity at two or more different
frequencies

(3) Time domain methods measure
overvoltage temporal variations.

(4) Frequency domain methods determine the
percentage frequency effect

(5) Question not attempted

In the Gutenberg-Richter law, the b-value

typically represents -

(1) Elastic modulus

(2) Relative frequency of -small vs.
earthquakes

(3) Energy of an earthquake

(4) Number of foreshocks

(5) Question not attempted

Young’s Modulus is defined in terms of -

the

large

(1) Velocity and density

(2) Acceleration and force

(3) Pressure and temperature ‘

(4) Stress and strain

(5) Question not attempted

What is the height of a building, if the

gravity value at its base is 20 mGal and at the top
10 mGal? Ignore the mass of the building.

110.

111.

112.

1%

5

£

113.

114.

gedl Jgciied @ fory uged IR@ Ammag
HIGH AT ﬁrﬁrﬁf@aﬁﬁ%ﬂa‘m&ﬁ
AT H Harferd g 87

(1) 8 um - 14 um

(2) 1 mm-30cm

() 0.4 um - 0.7 um

(4 1cm—10cm

(5) srgaiRa we=
frefolRes & @ aFa do SeUvS
UIeRTZSITH #H2r8 &1 R&IfET & g erq 27

(1) 2139 SMA faftdt Jea Baex &1 A9 Fdl
gl

(2) mieslt s faftdt &1 a1 ofe i
gl w® ToRe RRefad o1 audr §

() crgA S IRt aRdeew @ wHa @
T B dTel gRadH &T Age € |

(4) wigd™l SHe At woew wrad ywe
BT AT Bl & |

(5) srgaRa uee

TeAe—Raer M 3, b—a aMaR R yelRfa

HRAT & —

(1) SEER AMUiS

(2) BIC M S YHUI I AU AGRT

(3) BT P Hoif

(4) BReEe (qd Fed)) & w=

(5) SR ue

I H9T6 B = @ w9 F gRaia fear T

& _

(1) 37 3R v

(2) =T 3R 91

(3) gam@ 3R dIHE

@) T iR fafa

(5) IrgaRa ue= :

I ffl $ARG & IR W @By

A 20 mGal 3R I X 10 mGal 2, 7 SgH

SAS AT 8? ARG BT SHAM 97 B |

(1) 10.5m (2) 204 m (1) '10.5 Hrex (2) 20.4 Hiex
(3) 10m (4) 32.4m (3) 10 #rex @) 324 #ex
(5) Question not attempted (8) srgaRa ueA
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115.

The electrical components that describe the

- equivalent behavior of the ground under

116.

117.

118.

119.

120.

(1) Geoid undulation

investigation are -

(1) Inductive,
components

(2) Inductive and capacitive components

(3) Capacitive and resistive components

(4) Inductive and resistive components

(5) Question not attempted

In solving the inverse problems, which of the

following‘ tests should be used for testing

Gaussian Statistics?

(1) Paired t-test

(2) Receiver operating characteristic analysis

(3) Student’s t-test

(4) Chi-squared test

(5) Question not attempted

resistive  and  capacitive

The physical equipotential surface of Earth’s
gravity is called -

(2) Geoid

(3) Ellipsoid (4) Mean sea level

(5) Question not attempted

Which is the parameter for measuring the size of
earthquake that does need any instrumental
record?

(1) Seismic moment

(2) Amplitude

(3) Richter scale magnitude
(4) Intensity

(5) Question not attempted

Which method minimizes the sum of the squares
of the residuals?

(1) Newton-Raphson

(2) Singular value decomposition

(3) Maximum likelihood

(4) Least squares

(5) Question not attempted

Oceanic lithosphere is recycled into the mantle
at -

(1) Subduction zones

(2) Mid-ocean ridges

(3) Passive margins

(4) Rift valleys

(5) Question not attempted

115.

116.

117.

118.

119.

WG & T80 HE & §Aged HaER $I Ui
FRA qTel fIgd 9ed ® —

(1) IR®, wfeRSE 3R aIRkar ged

(2) WR® SR gIRAT gF

(3) enRar 3k RkRES g

(4) WP IR UfRES TcH

(5) SR uzH

g GHERN Bl 86 oY 98d, AefaRad
I BIFET R TSR FikeEd! & oid &

o SyanT fear S @nEy?

(1) €

(2) Refrar fRfeT HyaeRies fagemyor
() Wi BT -

(4) FE-TITS TR

(5) sraRd ue

gedl @ TIPSV BT Wi wHiaWd U0
EHEUCREIA TGH) Hecdl & —

(1) fpigs sigeled () fisiigs

(3) dregareR (@) T TE wWR
(5) SR we

YHY & A5G I AT & forg diar Refiex
g, P ot f oifse Reld &1 anawgsar
o &7

(1) iR Arre

(2) mam

(3) Reex wper gRk=mT

(4) Frgar

(5) srgaRa g

BT ey srafdret & vt @ IFT BT FH B
87

(1) YeFwad

120.

(2) R I Femaomer

(3) JfeHTH FHIEAT

(4) =Fam a7

(5) srgaRa ge

HETANRI  RATHSA Bl v
QAAMIGRYT fBar S & |

(1) Ses@N &3

(2) FI—HENMFRY Heh
() =fepa A=

(4) Rae arfeat

(5) srgaifa we

90 -
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121.

122.

123.

124.

125.

126.

127.

Which one of the following layers of the Earth
has the largest volume?

(1) Outer core (2) Inner core

(3) Lower Mantle (4) Upper Mantle

(3) Question not attempted

Which of the following instrument is used during
Radiometric Surveying?

(1) Scintillation counter

(2) Gravimeter

(3) Seismometer

(4) Resistivity meter

(5) Question not attempted

What is the frequency band of radar pulse used
in Ground-Penetrating Radar (GPR)?

(1) 1-10 Hz

(2) 10-100 Hz

(3) 0.1-10 Hz

(4) 10-1000 MHz

(5) Question not attempted

The data resolution matrix for an inverse
problem Gm=d is -

Where, d: data, m: model parameters, G: data
kernel, G%: generalized inverse

(1) d=G=GT (2) 4=G7'G®

() d=G'G® (4) d=GG¢

(5) Question not attempted

An unconfined aquifer has its upper boundary
as -

(1) A confining layer (2) The land surface
(3) Bedrock (4) The water table

(5) Question not attempted

Assuming that the geomagnetic field
corresponds to a geocentric axial dipole, the
latitude of a site having the magnetic inclination
45°1is —

(1) tan(0.1) (2) tan’(2.5)

(3) tan’'(1.2) (4) tan'(0.5)

(5) Question not attempted

The logging tool for direct determination of
permeability is -

121.

122.

123.

124,

125.

126.

127.

gedl @ fAfafed wal 4 9 e smaaH

99 e 87
(2) sriaRe BR

(1) I8 R
(3) fger #Hea 4) o Heq

(5) srgaRa T
Meamfes wdeor & SR fF=fRed 3 @ v
IYHIT BT IYANT fpar orar 27
(1) o™ Feex
(2) THTHYUE
(3) Yep=qATdY
(4) gfoRErear Hex
(5) argeRa o
TS TR (GPR) # SUANT fby oM
arel TSR UeH &1 gy d8 ar 27
(M 1-10 8T
(2 10-100 8¢
(3 0.1-10 &
(4) 10-1000 FMESH
(5) sraRa g
T Gm=d & folg SeT Ioiiegy™
KN
T8I, d: SeI, m: Afed IRMer, G: 8T oo,
G AHAIHd Gahd
(1) d=G*GT”
(3) d=GT G
(5) FrgaRda ueA
gzﬁa@rﬁawgaaﬁmmwwﬁ

(2 d=G'G®
(4) d=GG*

(1) s @ffd wa (2 9% 3 Fag
() dsd® (4) 9 ®Y
(5) srgaRa wed

I8 A 8¢ b —geer &3 e g3y
s=-fagd @& ofeu B I fail e
gwﬁwﬁaw%%,a‘rwwmaﬂ

(1) tan’'(0.1) (2) tan’'(2.5)
(3) tan’'(1.2) (4) tan’'(0.5)
(5) srgaiRa ued

gmmm%maﬁaﬁw%ﬁ‘—rqa‘fﬁﬁ@

(1) Sonic 1) 9 e
(2) Nuclear Magnetic Resonance (NMR) (2) TRE] GG IS (NMR)
(3) Resistivity (3) ufa_war
(4) Neutron @) =ggt=
(5) Question not attempted (5) argaRa we
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128.

129.

130.

131.

132.

Which one of the following is a main

characteristic of the Warburg region in

frequency-domain induced polarization

measurement?

(1) Measurements are not frequency-dependent
in this region.

(2) Current flows only by induction in this
region.

(3) Resistivity varies linearly with log current
frequency in this region.

(4) Resistivity remains constant in this region.

(5) Question not attempted

Magnetotelluric (MT) Methods measure -

(1) Only magnetic fields

(2) Only electric fields

(3) Current through wires

(4) Both electric and magnetic field components

(5) Question not attempted

The relief displacement is directly proportional

to -

(1) Sensor focal length

(2) Pixel size

(3) Satellite altitude

(4) Object height

(5) Question not attempted

A PKIKP seismic phase travels through -

(1) Crust and outer core

(2) Mantle and inner core

(3) Outer and inner core

(4) Mantle, outer core and inner core

(5) Question not attempted

The equivalent time domain function for the

below function plotted in frequency domain is -

{0 - 00 t——teeep- {0 + 00

0
(1) Spike or delta function
(2) Ramp function
(3) Square wave function
(4) Sine function
(5) Question not attempted

128.

129.

130.

131.

132.

frafofed § @ oW ImER-s@  URd

iR A9 ¥ aReT &7 B g v @?

(1) 39 &= ¥ A9 emgfy W fRk & wva
gl

(2) 39 &5 # gRT Dadt YRV §RT gdIfRd Bl
gl

(3) 39 & # RIS AT URT JTgRT B
TG Y | qEord B |

@) 39 &= # yfoRuwar ReR & 2|

(5) srgaiRa ueH

FerRegRs (MT) faftrRt At € —

(1) o9 geaig &5

(2) Baat fe@ &=

(3) IR & WreEH | °RT

(4) 2 faegE 3k gadg & Tew

(5) srgaiRa ge

el favenmue |HTUR 8T @ —

(1) IR Bhd a8 >

2) R PR &

(3) IUUE P HAE P

@) o o HUR

(5) srgaRa U

PKIKP i@ wa fferRad 9 gidx o
g‘-_

(1) J—uddt 3R T PR

(2) e 3R T R

(3) TTE 3R Wi B

@) Hed, e PR AR N IR

(5) Srg<iRa ued
W Ry Ty wiedd S/ # Rfyd wo @ firg
AGeY TEH ST Her & —
{0 - 00 ety {0 + 00
0
0
(1) WE® a1 SeeT Bl
(2) ¥ B
() Tt T B
(4) |89 Bl
(5) rgaRa g

90 -
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133.

134.

135.

136.

137.

138.

In a basin—shaped resistivity curve,
the equivalence function of the middle
layer is represented by (here z = thickness,
p = resistivity) -

(M z/p () p?

®) p/z @ zxp

(5) Question not attempted

Which of the following two conditions indicate
a missing interface by the time-distance seismic
refraction plot?

(1) Thick layer with medium velocity

(2) Thin layer with low velocity

(3) Thick Dipping layer

(4) Horizontal layer with medium velocity
(5) Question not attempted

Static corrections compensate for -

(1) Multiples

(2) Data loss

(3) Source motion

(4) Elevation and weathering variations

(5) Question not attempted

The magnetic survey is not applicable for -
(1) Landfills/waste dumps investigation

(2) Landslides/ground sinking investigation
(3) Pre-excavation archaeology investigation
(4) Geological structures/barriers investigation
(5) Question not attempted

The nature of free-air gravity anomaly at trench
of subduction zone is -

(1) Negative and decreased

(2) Positive and increased

(3) Positive and decreased

(4) Negative and increased

(5) Question not attempted

Which type of ore body can give an asymmetric
SP anomaly along a profile?

ﬁ“vé

3

§136

133.

134.

135.

137.

138.

TP IRF—3MHR &I UfaRIIDar 96 § 787 qd
BT qAGIA! el e Bl & (T8l z = AT,
p = Yl —

M z/p 2 p2
@) p/z @ zxp
(5) srgifRa ueA

ﬁ!ﬁn?ﬁmagqﬁmﬁ *"m
e §RT U@ SgufRerd

BT g 87

(1) He9 97 qreft A 9=

(2) 5 T qreil Ul TR

(3) g g3 A w=a

(4) =eg| 977 9ol &S URa

(5) rgaRd ueA

WS YR $HS! WRUE W & —

(1) oI

(2) ser =l

(3) @I 7fa

(4) I=1T9 R Uy F=Tamy

(5) FaRa e

GIDIT FAEIUT ALY IUYF 8l Bl § —
(1) Sfefher / FaRT e & 3he |

(2) FEe /YW 99 & AP |

(3) G ¥ @ W@ & Adhad

@) i EREEN /TRl & ATHaT

(5) orgeRa W

HeSWE GiF B @WE H Jad—ar] oAbyl
fafa & wefa & —

(1) oS AR FH

(2) TP 3R T 8

(3) =TT 3R FH

(4) FoTHS AR I §S

(5) srgaiRa wed

59 YR @1 v e NwEa & 9
srqfia Ta.d. (SP) fasdfa < |war 87

(1) Dipping (2) Horizontal (1) f3far (2) afos
(3) Vertical (4) Spherical (3) FeAfER (4) TMTHR
(5) Question not attempted (5) srg=iRa e
139. Compton scattering is physical basis for - 139. HIUET BT oo BT A IR 2|
(1) Natural gamma log (1) wfae T |
(2) Gamma gamma log (2) TmET TTE ART
(3) Sonic log (3) QY <
(4) Neutron gamma log (4) =t T ST
(5) Question not attempted (5) SrfeRa we
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140.

141.

142,

143.

144.

145.

The storage coefficient of a confined aquifer is
typically -

(1) Equal to porosity

(2) Same as permeability
(3) Greater than 0.1

(4) Less than 0.005

(5) Question not attempted
The potential generated by difference in
mobilities of various ions in solutions
different concentrations is known as -

(1) Shale (Nernst) potential

(2) Dynamic potential

(3) Liquid—junction (diffusion) potential

(4) Streaming potential

(5) Question not attempted

The telluric currents cause a mean potential
gradient at the Earth’s surface of about -

(1) 0.1 mV/km

(2) 100 mV/km

(3) 10 mV/km

(4) 1.0 mV/km

(5) Question not attempted

Disseminated ores produce a notable IP response
due to -

(1) High current

(2) Electrolytic polarisation

(3) Grain polarisation

(4) Membrane polarisation

(5) Question not attempted

Which one of the following -electrode
configuration is NOT suited for vertical
sounding?

(1) Pole—dipole (2) Schlumberger
(3) Dipole—dipole (4) Wenner
(5) Question not attempted

The VLF source emits electromagnetic waves in
the frequency band -

(1) 0.01-1 kHz (2) 15-25 kHz
(3) 100-200 kHz (4) 150-250 kHz
(5) Question not attempted

140.

141.

142.

143.

144,

145,

e HIfAd STed 1 HSROT ONd AHAR W

(3) 0.1 9 af®

(4) 0.005 % FH

(5) srgaRd W

faft=1 amat @ nfereierareii @t e & arRo
faft=r wigar aret fdermT 3 S g & T
HET T 87

(1) 3o (Fve) drelraa

(2) s ueRraa

) fofdas—<ieem (fawxon) gl

(@) EfHT urelRra

(5) srgaRad T

SHRP YR Yol @ waw W 3iiae fg
TqUIdT Sd~ Pxal & —

(1) 0.1 fAdee /B

(2) 100 fAarce /&AL

(3) 10 faree /&

4) 1.0 fAare /oA

(5) IrgaifRa we

frg orRuT ¥ RWfACs sl ¥ s
Seerg-g s (IP) wfifshar Seu=~ g 27

(1) S=a fegga awn

(2) seFcIasied garavor

@) I gdrawor

@) fereelt gdidvor

(8) IrRda e

fafofad & & S soage w¥oft Heafer
(@fPper) w=feT & forg Sugam 781 87

(1) dig—smEura () TR

(3) sEUE—sEUe (4) IR

(5) argaiRa ueA

VLF 9 &g smgiy ds A faeagaara avi
IAfoid HRaT 57

(1) 0.01-1 kHz (2) 15-25 kHz
(3) 100-200 kHz (4) 150-250 kHz
(5) 3rgaiRa ye
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146.

147.

148.

149.

150.

The resultant magnitude of two vectors,

u=2i+4j—-5Skandv=i+2j+3kis-
(1 7 () 3

35 4 2

(5) Question not attempted

The magnetic field generated by external sources

is mainly influenced by -

(1) Core rotation of Earth

(2) Solar wind

(3) Tectonic movements

(4) Seismic activities

(5) Question not attempted

Artesian wells are associated with -

(1) Confined aquifers under pressure

(2) Evaporite layers

(3) Perched water tables

(4) Unconfined aquifers

(5) Question not attempted

Select the correct answer for the following two

statements related to the reduction-to-pole

transformation —

(A) The gravity and magnetic anomalies vary
with the latitude and strike of the causative
body.

(B) Reduction-to-pole transposes the gravity and
magnetic anomalies as if its causative body
were at the pole.

(1) Both statements (A) and (B) are true.

(2) Statement (A) and (B) are true and (A)
explains (B).

(3) Statement (A) and (B) are true and (B)
explains (A).

(4) Statement (A) and (B) are false.

(5) Question not attempted

Which one of the following resistivity sequences

is characterized by a H-type curve over a three

layer model having resistivity of 1%, 2°¢ and 3™
layer as p1, p2 and ps respectively?

(1) pi<p>p3 (2) pi>pa<ps

(3) pi>p2>ps3 (@) pi<pa<ps

(5) Question not attempted

146.

147.

149.

150.

T e u=2i+4j-5k 3R v=i+2j+3k®I
gRomT afkEmT 8 —

1 7 (2 3
@) 5 @ 2
(5) argaRd we

I Al gRT SO gEar &5 g fhad
wIfad eiar &7

(1) gt & BR & YT |

() ¥R ga= ¥

() TFwIE FaTal ¥

@) qedrm Tl |

(5) araiRa U

- MR $Y fods |y 9 gY &7

(1) <99 # SRfea Srerd

(2) arsfipxor o=d

(3) u=E dfeX caed

(4) areRfeE STeryd

(5) 3rgaiRd wed

Rewm-—c—ura wuwR o wata f=foiad

a1 FUAl & folg |E SR g —

(A) ToATHYT iR gedrg fagfoat e iR
?ﬁﬁﬁﬁw%wmﬁﬁﬁ

I

(B)ﬁswa—g—thawﬁm‘wsﬁ?gaﬁu
faaferdt @ 59 ave § RIEidRg BT 8
SN 5 iifed 96 ga W B |

(1) 2 (A) 3R (B) aF1 9 B |

(2) o (A) 3R (B) 9 & @01 (A), (B) Bl
RAT T 8 |

(3) P (A) 3R (B) 9 & @1 (B), (A) Bl
YT PHRal © |

(4) B (A) 3R (B) I |

(5) argRa ued

frafafed § | ST yfoRrdar s sy O

_d Aied IR H-YPR 9 gIRT afvfd &, o

HHY: Tgell, TRl SR TR IRa B UfoRIeresdn

p1, p2 31X ps B?

(1) pi<p>p3

(3) P1=>pP2>P3

(5) srgiRa e

(@) pi>pa<ps3
(@) pi<pa<ps
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